[bookmark: _GoBack]Check Figures--Chapter 11

11-21	2. $8.00 per unit; 4. Opportunity cost = $75,000
11-22	1. Difference = $30,000 (in favor of not accepting the special order); 2. Minimum selling price per unit = $28.20
11-23	1. Opportunity cost of not accepting the special order = $5,000
11-24	Contribution margin per unit sold = $1.10
11-25	1. Zero (the outsourcing alternative is never preferable); 2. 582,857 units per year
11-26	1. 8,000 units of SilPol; 2. Operating income: for 0 units of SilPol, $2,000; for 4,000 units of SilPol, ($800); for 8,000 units of SilPol, $2,000; for 10,000 units of SilPol, $3,400
11-27	1. Net loss on discontinuing T-2 = $69,000; 2. Required increase in sales from T-1 = 72.73%; 3. Required increase in sales from T-1 = 31.82%
11-28	1. Gross profit figures, per square yard: Commercial, $4.50; Residential, $7.75
	2. Contribution margin (total): Commercial, $180,000; Residential, $80,000
	3. Optimum product mix: Commercial, 17,556 square yards; Residential, 8,000 square yards
11-29	No check figure available. 
11-30	a. Relevant cost to produce the product = $62.00 per unit; savings by producing internally = $4,000; b. Difference in favor of the re-machining alternative = $2,500; c. Difference in favor of refurbishing the boat = $8,000; d. Product A should be processed further ($12,000 incremental benefit); we are indifferent as to whether Product B should be processed further; e. $3.00 per-unit cost savings by making versus purchasing; f. product contribution margins per labor hour: Flash = $25.00; Clash = $40.00; g. minimum short-term selling price = $2.00 per meal; incremental cost to serve 200 bus patrons per month = $3.50 per meal
11-31	1. 15,000 direct labor hours (DLHs); 2. Incremental operating income = $432,000; 3. Minimum selling price per unit = $17.40; 5. Minimum selling price per unit = $19.15
11-32	1. Average cost per unit: prior to special order = $170.00; including special sales order = $148.75; 2. Increased contribution margin = increase in operating income = $37,500; 3. Breakeven selling price per unit =$85.00
11-33	1. Total relevant cost = $140,000; 2. Operating income would decrease by $15,000; 3. Breakeven selling price per unit = $28.00
11-34	1. Total fixed manufacturing overhead cost = $240,000 (batch-related cost = $160,000); 2. Total relevant cost for the special sales order = $135,000; 3. If special sales order is accepted, operating income would decrease by $10,000
11-35	1. Number of fans manufactured = 15,000; number of fans purchased = 5,000; total contribution margin from this plan = $420,000; 2. Total contribution margin for the sale of marine pumps = $525,000 (contribution margin per unit = $21.00)
11-36	2. Net cost savings from closing the plant = $55,200
11-37	1. Savings if parts are purchased = $15,440 (relevant cost to make = $17.97 per unit; relevant cost to purchase = $17.4875 per unit)
11-38	Non-discounted five-year cost advantage in favor of the Naftel contract = $650,000; five-year cost advantage of the Naftel contract, present-value basis (@ 6%) =$364,500
11-39	1. One-year cost differential = $13,125; 2. Difference between paying the fine ($60,000) and the net increase in year-one processing costs ($69,599.52) = $9,599.52; 3(a). Required cost decrease per month (applied to labor and electricity) = 4.164%; 3(b). Cost per pound for the new compound that would equate the anticipated fine with the net year-one costs, assuming no Kaizen budgeting plan = $2.00 (from $2.25 per pound; therefore, a reduction of $0.25 per pound)
11-40	1. From a contribution income statement, contribution margins are as follows: Parker line, $33,300,000; Virginian line, $55,409,000; Weldon line, $15,543,000; 3. New sales levels: Parker line, 165,000; Virginian line, 368,500; decrease in operating income = $6,672,100; 4. required increase in sales from the Parker line = 70,014 units (an increase of approximately 50%)
11-41	1. Per-unit contribution margins: Traffic Paint, $1.26; Commercial Paint, $8.10; Total Contribution Margin Generated: Scenario A = $738,720; Scenario B = $707,840; Scenario C = $895,640; 2. Total contribution margins: Scenario A = $738,720; Scenario B = $707,840; Scenario C = $680,180. 
11-42	1. To close the budget gap would require the following increases in sales volumes: Gliders, 1,400 units; Chair-and-Stool Sets, 1,100 units; if this were accomplished, total contribution margins would increase by $30,100 and $10,038, respectively; given the cost of prizes ($16,500 and $12,500, respectively), the Excess of Contribution Margin Generated over Cost of the Prize is: $13,600 (Gliders) and ($2,463) (Chair-and-Tool Sets). Note: the analysis above uses actual rather than budgeted price and cost information. The analysis could also be done by comparing the contribution margin for each product based on actual sales volume at actual cost, actual selling price, and actual resource usage to the product contribution margins based on actual sales volume at budgeted cost, budgeted selling price, and budgeted resource usage. 
11-43	1. Current level of fixed costs = $4,000,000; 2. Required sales volume = 64,000 units; 3. Pro-forma Operating Income = $2,280,000
11-44	2. Gross Profit per unit Figures: No Frills Model = $10; Standard Model = $17; Super Model = $21; Contribution Margin per Unit Figures: No Frills Model = $13; Standard Model = $23; Super Model = $27; 3. Contribution Margin per DLH: No Frills Model = $26.00; Standard Model = $23.00; Super Model = $18.00; 4. Contribution Margin per Relative Machine Hour: No Frills Model = $13.00; Standard Model = $11.50; Super Model = $13.50.
11-45	1. 17 units of Premier Cuisine and 29 units of Haute Cuisine (total Contribution Margin = $5,429); 3. 45 units of Premier Cuisine and 10 Units of Haute Cuisine (total Contribution Margin = $7,750).
11-46	1. Lifetime cost function, regular model: Lifetime cost (Y) = $17,000 + (2,608.7 gals. × v), where v = cost per gallon of gas; 2. Breakeven gas price (i.e., point of cost indifference) = $3.88 per gallon; 4. Pseudo degree of operating leverage = 0.380 (for gas-powered car) and 0.325 (for Hybrid model); 6. Expected value calculations (lifetime miles = 60,000): Hybrid = $27,360; Gas-Power Car = $27,401
11-47	No check figure
11-48	2. Contribution margin per processing hour: Process #1 = $48.00; Process #2 = $40.00; 3. required selling price per unit, output from Process #2 = $5.50; 4. Revised contribution margins per hour: Process #1 output, $30.00; Process #2 output, $22.00 (difference of $8.00 is the same as observed in Part 2); 5. Sensitivity analysis results: at a selling price of $5.10 per unit for Process #2 output, the difference in contribution margin per processing hour is a constant $8.00 across all levels of variable overhead cost (0%, 25%, 50%, and 100%). At $5.50 per unit, there is no difference in contribution margin per processing hour across levels of variable overhead cost. 
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